Charles’ Law Worksheet

1)	The temperature inside my refrigerator is about 40 Celsius.  If I place a balloon in my fridge that initially has a temperature of 220 C and a volume of 0.5 liters, what will be the volume of the balloon when it is fully cooled by my refrigerator?







2)	A man heats a balloon in the oven.  If the balloon initially has a volume of 0.4 liters and a temperature of 20 0C, what will the volume of the balloon be after he heats it to a temperature of 250 0C?







3)	On hot days, you may have noticed that potato chip bags seem to “inflate”, even though they have not been opened.  If I have a 250 mL bag at a temperature of 19 0C, and I leave it in my car which has a temperature of 600 C, what will the new volume of the bag be?







4)	A soda bottle is flexible enough that the volume of the bottle can change even without opening it.  If you have an empty soda bottle (volume of 2 L) at room temperature (25 0C), what will the new volume be if you put it in your freezer (-4 0C)?
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Boyles’ Law
Use Boyles' Law to answer the following questions:

1) 1.00Lof a gas at standard temperature and pressure is compressed to
473 mL. Whatis the new pressure of the gas?

2) Ina thermonuciear devic, the pressure of 0.050 lters of gas witin the
bomb casing reaches 4.0 x 10° atm. When the bomb casing is destroyed
by the explosion, the gas i released into the atmosphere where il
reaches a pressure of 1.00 atm. Whatis the volume of the gas after the.
explosion?

3)  Synthetic diamonds can be manufactured at pressures of 6.00 x 10° atm.
if we took 2,00 lters of gas at 1.00 atm and compressed it o a pressure
0f 6.00 x 10* atm, what would the volume of that gas be?

4)  The pighest pressure ever produged i a laboratory sstiing was about 20
x10°atm. 1fwe have a 1.0 x 10° lter sample of a gas at that pressure,
then release the pressure unilit is equal to 0.275 atm, what would the
new volume of that gas be?
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